pobaill 5 A 5 B ) 5 5
— 22 00 — (el peall el S e
2019.2020 M) ol 3 Jaill — ale e salall Caall diled daal e

ookl dlae /Y aleal _ .
Find the area of AABC 1o the nearest @ S;r? "JJ JJ
&< e

A= xTXIXSin(109)

8 cm

=3 4 1’3 ST _ 104°
~ 349 A~ s C
A. | 39.4 Q 349 C. | 421 D. | 412

A=138",b=10 cn& c=20cm

c >
AN

Find the area of the triangle to the nearest tenth if

A ==%jo XIo K Sw (\37°)

A
= 669
/N P\
Ak 66.9 B. | 1338 C.| 2677 D. | 341
A

Find the value o@to the nearest tenth
S-lnf'g _ Cimdd

E 3 b||
@=-2-5 E‘fao“ k
7 _ c (» s
@)If AFGILIFIG = 827 = 6, and i = 4. then the length of side@o the nearest tenth equal
A. | 6.7 B.|76 C.|75 D. |64
A |5 B.|75 C. |25 D. |10

Un S __Gim (o6

(to the nearest Degree)

In ARST, R=105", r=9,and s =6 Use the Law of Sines to find #./8S.
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5 Use the Iow of cosine to find the value oOo the nearest tenth 2
b
b= 7+5 - TDRAYS A @6 (36) -
C"\
x 5
A. |39 B. |4 C. |41 ( D. |42 ’>
~—
6 If AFCitif G =82, f=6,and i = 4. then the length of side g to the nearest tenth equal
z N
3:1/6!++-2k6x4x®g(32) /\
=67 @
P N
A{ fj B.| 7.6 C|7s D. | 64
7 Depend on the figure below find M < A to the nearest degree A 0 8
b=\ J0" +9=2¥ 10 XAX CGas B //E,/;’
- 16
AS 15 e~
VA \
A. |34 B. | 31 Q 115 D. | 105
8 Two bumper cars at an amusement park ride collide as shown below.
How far apa@were the two cars before they collided? &
. e .y ~~
Q 2 ~. :
0{:\{1+I3-27&2Y\3X Gk () &
=3-2
a7
A (3.2 B. | 35 C. |74 D. |53
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9 The terminal side of angle 8 in standard position intersects
the unit circle at I Eri ) Find cos # and sin 8.
ANA RPN
Sw
€.%;
] > D
A. cosa=g,sin0:% (3/ cost%,sinBz% C. cosezg,sim):? C059=%,Sin9=%
10 The period of the function in the figure equal
T—06=T
211 -~ =TC
— )
A, i B. 2T Q n
2 ¥_ N
1 The Amplitude of the function y = @cosBH equal Y :WQ SO
- o J \ — AMﬂl’tHd —‘\_4‘ =4‘
A |-4 B. |3 75 i C.|4 D.|-3
% L
The Period of the function y = 4cod36 equal nd = 0
12 y S,V{(JH q ch[- 33-:|20
—_— A A=, 1‘%'&
A. | 360 B. | 180 Q 120 D. | 90 X:\;rg_qé,a
= 5~
13 Which graph for the function y =@Sin X

/}y\\
A EAN
: o QW(”G“W”

0

14
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15 If Tan # = 1.5, find A.
[dv (59) 17
//\
Al D03 B.| 201" c.(w D. | no solution
-~ < 7
16 What angle has a tangent and sine Q'\V\'e - W ch.l Ve,
that are both negative? +5m | + All tTawn bz V\C(;.\Sﬂ-}tive
"'-Eﬂ J_‘_ Cx S Q= (70&:1'! Ve
7& 65° % 120° C. | 265° @ 310°
17| 1fCos@ == then Sect- ,2(: - 2 oo |
& O= Cose
csce- L
- no
N\
A, 1 B.| (2 ) C 2 D _2
2 2
18 sin’x + cos?x =

tan®x

B. @ C.|o D. cot’x
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[ KeyConcept Basic Trigonometric Identities

Quotient Identities

] [Z]
_\ no =t coth=20
g > cos 6’ sin 6
ge(’é.co 6 _:_\ cosH#0 sinf#0
a _.\ Reciprocal Identities

sinH:L.csch&G Gself= —— &G0
csc 5

sin

1 ’
cosﬂzm,secﬁ:ﬁ(} @H:mw
tanHzL.cotH%O cot9=1—.tan95&0
cot 6 tan 6

Pythagorean ldentities

————
Cc0529+55n2921J %nEH-P‘I:SDCEH) (c0129+1=c5c29

Cofunction Identities

sm(— H)—cosH cos( —H]—sm.‘? tan(%—.‘?):cot.‘)
Negative Angle Identities o
sin (—6)=—sin@ cos (—H) = cos @ tan (—f) = —tan @ ; i+ S;“ qa {-\
Cas 6% o= | e

(4]
Gde ¢ (q‘) =zl > C"—"Se_-o q:} ‘_}U \go T C

19 Find the exact value of cas g 1{ sin B = 1—'5111& 90° < 8 < 180° )

p

X\ V15 (& V15 14 1 D. 1
4 4 4 4
20 sin @ csc @ -
. : - — = {an®
Simplify cot Cot6 T
ﬁ
( A. tan 0 B. cot 0 C. sin @ D. cos 0

If tan @ = 2th ot0=:-

21 fanf=2 en 7

Type equation here.

OE o] 1 A
2 2
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22 cotx + ¢cscx = % {—SEC?( —
cosr 4 L o oS + ] Fon Ginx )
<wmt | SinX <m X Sl 4 A -

‘ CosX | Costt CoS A
_ LA Sm*
\/ - CosX
A cosx+1 B sinx+1 C tanx + 1 D cotx+1
‘ sinx ' cos x ‘ sin x ‘ sinx
23| sin(15) = _
V6- T 60!
4~
A. sin (4;)sin(369) + cos(455)cos(3c())) c cos (45)cos(30) + sin(45 )sin(30)
N\
Q/) sin (45)cos(30) — cos(45 )cos(30) d| sin (45)cos(30) — cos(45 )sin(30)
23| tan(37.5)= (.37

/
+ /1_%5(75) X . /“%SUS)

— 1+ cos (75) d 1+ cos (75)
* 2 (. +— * 2
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the exact value of sing i@d (/)
. ©_1205 T o

S'wx,é.':_‘\" IECES ? NIl TS
2.
o _als 1L
_+\/—l:/(‘%\5 Sing =1
- 7

o
I

V5

2 2 1
B e C —
V5

V5
all solutions ow 0<@<2m S 26 = 72 S ne@se

96ineCes0- (86=0

. & =Ce (0) 43’9\ .
_TC snv-= T, 5
6_-—/3)5 _z - —l =
LV ?_',- * 9=9'“‘|‘C‘})">Q-€ é
A {53_”55_”} B {55_”} c {53_”} D {E?’_”
22’6’6 6’6 272 2’2
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E CHOICE ‘v"h’hlch expression is equivalent to  cx@
SNB+ L6 Tine
v
A 5 \

=)
u::ltH C sec Hc’.ﬁt&%‘g{-’ Gg%-\-el ) QLV\B
CRS L2 - e
B tan ¢ @ csc B ¢ ﬁv_\e_e*_%e ] C"Q
S <

Verify that cos (30° — #) = sin (60" + 6) is an
identity. See margin.

@ Verify that cos L;?/T} = —cos 0. See margin.
COSGQ‘LS:_‘ + s 3-\%33 = —Cosg

4. PLE CHDICE What is the exact value uif
mwo <0<1807? J
ST

15. MULTIPLE CHOICE What 1s the exact value of tan —’P

W +o4l42~---'-



